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Note:- Attempt all the questions,
All questions carry equal marks.

This paper carries negative marking. 25% marks will be deducted for each wrong

answer.

Choose the correct answer.
1 Marks : 3

Small type transfomer core for shell type
generaily used .............

E& | type of core.

F& F type of core.

E& E type of core.

T& U type of core .

I»

w;(:ic":t?:

Marks ¢ 3
The distance measured in terms of armature
slots or armature conductors between two
sides of a cailis......coceeeeene
back pitch.
coil pitch.
front pitch.
pole pitch.

wWig O W >

Marks : 3
The distance measured in terms of armature
Conductors which a coil advances on back of
the armatureis called as......cccoceeeene
A front pitch.
B coil pitch.
C back pitch.
D pole pitch.

4 - Marks : 3
The end lzad of coil 1 is connected to the

heginning lead of adjacent coil (coil 2)
inrough the commutator segments

simple lap winding.
duplex lap winding.

duplex wave winding.

A

B

C simple wave winding.
= :

5

Marks : 3
The end lead of the coil 1 is connected to the
begining'of a coil placed at a distance equal
to one pole pitch is called..............

A simple lap winding.

8 simple wave winding.

c duplex lap winding.

D duplex wave winding.

1 HFE: 3
g erew & o @2 oI &7 s A we
EL Rl 1A T - S
A E& | i€ @ S
B F&F it F7 71T
C E& E 9% &7 %X
D T& U wse s m

9 w3
w warrer & ot faeet & Ay ardt v g ey
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TR FeEwel & e A vt g R i
T AT & TS FEE B A gerd 8 98
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A wE Ry

B wnw fRa
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0 T Rw

4 w3
A 1w S AT e WE (e 2) F
TS e @ g7 & uF evgder A I arerl
mmdaee

A fpge dv =iy

B sy v aafey

C e 39 afEr

5 IF: 3
Favae 1 A anfady ofte U aarae & ww | St
2 ot B ow Tl fre & gt & oy ver ¥ 9w
FEqTIERE e

A fe @ argfE

B e 39 quefisr

C et &9 argfiw

D eyeEw 39 grgfdr

6 Marks : 3
Laying the coils clockwise the connections
to the commutator segment's will also
proceed clock wise then this type of winding
is called as......

A retrogressive lap or wave winding.

B progressive lap or wave winding.

C lap winding. '

D wave winding.

8 3w 3
FITYS &t FEAIFATRE CrAd 996 FReRe amiwe &
Fden oft aeifeage § wwar § ol ew e Ay
arefr FgwEr & L

A Ygifes A ar 39 afEn

B whifym dv a7 4w agfEr

C dv agfdr

D a9 gnlr
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HITAA A FATH AT5H SToOq awh FAREET Q< &
FARE Ul oo ARE wd € al 5 TEE A

AT aref
F7 FEfiar
e dv ar 37 argfEr
ghifee & a7 37 AT

7 Marks : 3
Laying the coils clock wise, the connections
to the commutator segments will proceed
anti- Clock wise then this type of winding is
called as...........

A lap winding.

B wave winding.

C progressive lap or wave winding.

D retrogressive lap or wave winding. .

8 Marks : 3

The motor suitable for loads where constant
speed is requried is...............

I goOomw>P
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W%:3
ate & fog Suges wiex el @aw wfy &t s

w

¥w:3
T ol FF deT p’ € kR Wl f € oAt
fommtaw wfis ‘Ng e Rarmar & ..
_120p
o
120f

Ng
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p

f
120
120

N =
e

st

ooOow>P

HF:3
A e deady wieY & Rex ] gaw hs e
| oafr & ger e
wefer afy
ufdewg afy
et wfy
ferT afer

A induction motor.

B synchronous motor.

C capacitor motor.

D universal motor.

9 Marks : 3
If No. of pole is'p’ and frequency 'f' then the
synchronous speed 'Ng'is given by.........

A NS =j—2"(£

f

B 120f »

p
pf

C Ng s

120

D Ng _>—5¥-

10 Marks : 3
The magnetic field produced in the stator

of a three phase induction motor travels
aleor

A rotating speed.

B asynchronous speed.

C synchronous speed.

D slip speed.

11 » Marks : 3
The syncthronous speed of an induction
motor refers to the speed of the.............

A rotor

B armature

C rotating magnetic field

D value marked on the name plate

12 Marks : 3
Itis advisable to avoid direct on line starting
of induction motor having a capacity of more
than 3HP because............

A the starting torque is very low

B the motor takes five to seven times of its full
load current

C it will pick up very high speed

D

it will run in the reverse direction

HH: 3
LHEFNA W #T Rrawtag vl saa) afy & gt
TR
ey
HTHEY
i @ W FfRa 3y

oo0owm>

A% 3
3HP & =iftrs sraar aret 39S " 71 SEiEe
AT ET  Wrefew & a9k Y e & o @
i

s o agT @ &

weX Gl At HLC FTIW AT dav &
7w stfer e I=v wfy g
% el fRum & s
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13

Marks : 3
On switching'ON'the starter the magnetic
contactor vibrates heavily the causes may

13

@Y B 9w FR ) FERE FRwe |/
St & FOT  FIAT 2 FHET FO G GHAT

A T TR
A high voltage. B uriaT Froae aehw q qw &
B dirtin the armature contact surface. C w e & A fvre o @
C low voltage and single phasing. D W ateder sty srrieR FTATE TAE 9T 9 &
D low voltage and dirt on the armature contact
surface. -
14 Marks : 3 14 : w3
For a small capacity induction motor the type oF g Ff gewe wew & fe T g
of starter used is........ ITaT FTER N OAFEE
A star-deita starter. A I 3T W&
B DOL-starter. B DOL- ®Tex
C Auto-transformer starter. C it grawHY 'Y
D Rotor —resistance starter. D A MW =k
15 Marks : 3 15 HF:3
In a 3phase induction motor started by a DOL DOL wréT v & fFar mar 3 & Fewm
starter the short circuit current is protected mee ® T gffe st z@F T a9 ©
by e e
A overload relay. A st @ R
B no-volt coil. B A i @@mHe
C back -up fuses. C %F 97 wgA
D protective earth conductor. D wieffeg wf FAswex
16 Marks : 3 16 w3
In the manua! star delta starter,the stop button ﬁgm T ST WY W R 9eq FANT g9
connection is in series with the......... i iracs a0 !
A no-volt coil. A T Tt FTEd
B over load relay contacts. B atax @iw Re s
C no volt coil and load relay contacts. C At gt #aT @Y wie Ra Feae
D no-volt coil and start button. D st gt TEE AR & geT
= Shee — : St
In shaded pole single phase motor the fegg uter R &9 "z 7 fafar wie o
revolving field is produced by......... o e
A capacitor A FRew
B regulator B ueev
C shading ring c wfdy far
D winding D aEfEr
18 Marks : 3 18 Hw:3
If the capacitor in a fan is shorted, then the AT g| T afer Wik E At daw ...
famEwit A =& SeW
A notrun B ¥ gshr
B run slowly C dsr ST
C runfast D we % arg =2
D -run with noise 19 o
= Marks:3 e gf %t A% gew awET § L
Number of coils per phase is equal to.... ;
: Totalnumber of coil
A Totalnumber of coil A e
Number of phases :
8 Number of coils /phases B i e ik e
: Number of poles
Number of poles :
c Totalnumber of coil c Toatnumbe: of cal

Number of phases x number of pair of poles
Number of slots
Number of poles

Number of phases xnumber of pair of poles
Number of slots -

Number of poles
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20 Marks : 3
Phase displacement in terms of slots in a2
stator of 3 phaseis...........

A 1207
slotdistancein degreeo
o}
B 360

slotdistancein degrees

20 @:

T 3 %9 & Wer W wWie & g § o
120°

é!btdistanceihdegreeé
360° |

slotdistance indegrees

¢ sSltdistanceindegrees

c slot distancein degrens 360°
360° slotdistanceindegrees
p Sotdistanceindegrees gimean. |
= LS o 214 w3
arks: .
Total No. of coif per phase per pole is.......... e sfiy & afy ot @ Hwrd
n Toow ot
No.of phases
5= ol i) P TR
Mo.of phasex No.of poles ' :
¢ TotaiNo.ofphases c T‘?z'ig"‘;\jzf;h:jfs
TotalNo.of coil
No.of phasesxNo.of poles No.of phasesxNo. Of poles
TobiNG of ool TotaiNo. of coil
22 Marks : 3 22 Hp: 3
Pole pitch is calculated by... qier firg & woET 3EF R0 SR Y i
3 2 TOT:I\?;p;!zlsots : S e
TotalNo. of slots
B e TotalNo.of slots
No.of | po!es No.of poles
¢ TotalNo.of coil .. TotalNo.of coil
No.of poles o ofpoles
D A otdllia of slois TotalNo.of slots

TotalNo. of coil

23 Marks : 3
In the motor generator set the type of AC
motor used is.......

squirrel cage induction motor

wound rotor induction motor

AC commutator motor

synchronous motor

OO wm>

TotalNo of coil

23 ¥ 3
Wl qex #T ® wahT 57 AC HieY &1 ¥FR &

n
£

Marks : 3
In which type of AC to DC converter, losses
are less and efficiency is higher?

Motor generator set
Rotary converter
Mercury arc rectifier
Metal rectifier

OOw>

N
[4,]

In which of the following applications DC is
essential?

Electric traction motor

Electric home appliances

Machine shop motors

illumination

TSOw>

24 AF:3
fam wFX & AC & DC Fady 7 aty a9 aiv
erraT Afte & 2

A weT seT

B el #vEie

C w& ard IFwray

D #Aed ey

Marks : 3

oW

25 w3
frafafaa # 9 217 @ welidoT % DC =8 &2
TtfFes ST Wew

TAfegE shr qargy

i wi niex

A AT
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26 Marks : 3 26
Motor used in electric traction is.......... FAfREH AT R FATT B AT WG L
A DC compound A DC #Hwe
B DC shunt B DCw=
C DC series C DC#w
D DC long shunt compound D DC @fr 72 &ugres
27 Marks : 3 27 ¥ 3
Cables are drawn through the pipe and Faer TRT F Ty et Wt & ot 4w & w2
terminated. The system of wiring is Frafar £t T2 syl wEant S,
called........ A PVC 3 $ifr e
A PVC casing capping wiring B sasyE Iwfar
B conduit wiring C T.W a7 amgfar
C Tw battven wiring : D T.WaRnr FRhT arafiw
D T.W casing capping wiring
28 Marks : 3 28 w3
The radius of bends used in  conduit wiring FAEYE AR § T €17 awt @Y # A gl
should not be less than........ Fw TE Wy TR L.
A 3cm A 38
B 5cm B s5al
C 6em c saf
P75 cm D 75&f
29 Marks : 3 29 W3
The surface conduit wiring saddles should be o FAeE aTarr dew o® T ¥ R
fixed at intervals of not more than.......... e R e @ TRT L
fgbou A 05
£ B 0.75%
¢ 1.0m .
B {5m C 1.0/t
30 Marks : 3 ?0 {fi5l =T
The thread on conduit pipes in all cases ' :
should have a length sf?ange ......... :j; ?ﬁ: ﬁlﬁlﬁ W"”j e 92 4 &
A 101020 mm A aohohbine
B 1ito
c 12202‘2:;‘ Bad sart
D 15to 35 mm Bpages
D 15% 35 finft
31 Marks : 3 v e
The fuse rating is expressed in terms of...... : i
A voltage wg YT T w v X sl A @
B current A Ales :
C KVA B 3@
D VAR C KVA
32 Marks : 3 302 i %8
A delayed action cartridge fuse is used for... - :
A motor circuits Tt ume S M R e
B lighting circuits B 2.
C fluorescent lamp circuits A ‘ﬁﬁ_“ﬁ&z
D heating circuits g’ arefem “E:;T -
33 Marks :3 ””,: e
As compared to rewirable fuses, HRC fuses ?3 dife wfde fo
havar'= - S
A high rupturing capacity Rarataw wgw 3 st HRC W & ..o,
B high speed of operation A 3 TeEfRT awar @
C no ageing effect B amau F 3= w8
D low rupturing effect C % R g adr &
D =y wefir gwa &
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Marks : 3
According to NE code the colour code for the
neutral..........

Hw:3
NE Fte & arame <ga & Re s s 2 ...

A
A red
B blue B
C black C e
D green D su
35 Marks : 3 35 #¥F:3
Which type of relay is used to protect the siex i afax ateder Wiew % YOA R wER ¥
damage of equipment during under and over R Fr wahT IuEeer # a@wdr & I ¥ g
voltage fault? B sTAT & 2
A Current sensing relay A wie AR R|
B Under current relay B EY oie Ra
C Voltage sensing relay c o ARy R
D Latching relay D afRm RS
% Marks:3 = A e e e e
The quick response type catridge fuse is used : P YA 219V FHTErNT WY A WENT %I?T%w;;
for e =
A lighting circuits A wefeT affe
B heating circuits B @fT aie
C motor circuits
D wiring circuit _ g z:;:ﬁ;z
37 ' Mark:3 -
: = : : 37 N3
:gf:;es tm a cnrcuat provides protection bz 4 et g R AT S A x
A open circuit A st wibe
B over load B “ﬁa—{ dls
C short circuit and over load C i affe six X s
D open circuit and over load D i afds AT A A Taar
38 Marks:3 38 : #=R3
Fusing factor is.......... L5 (RS Co g S
A Minimum fusing current % Minimum fusing current
Ratedcurrent Ratedcurrent
g Maximum/fusingcurrent B Maximum fusing current
Rated current Ratedcurrent
c Ratedcurrent c - 'Ratedcgrrent
= ” Minimum fusingcurrent
Minimum fusing current AT
D .Rated cu.rrent = Maximum fusing current
Maximum fusing current 39 ————— e prac
- Marks:3 Tt wr R ¥ forg # & wwre A arafi
Which type of wiring is suitable for multi- TG 2 7
storey building? A H-Rwew
A Tree-system B fv aw Reew
B Ring main system Reftagem
C Distribution board system g f;r ﬁ? aﬁjé g@w o P
D Ring main and distribution board system = =
. B crafe & # & e v it AR sl 8
Which type of looping method uses less -
cables in wiring ? A ﬁ%ﬁ, site ifRnT Ao A i smae
A looping out from switch and ceilling rose :
B looping out from switch : B R & gfiw smee
C looping out from 3 plate ceilling rose Cc 3w fifthr dw & g sge
D looping out with junction box D T A & @y g a9
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41 Marks : 3 41
While estimating in wiring for any Rt o) srafreaT & (AT aafér | sieem wwa
contigencies generally an additional amount T Wi Qi A F o afie < i
of total cost is added........... s EatE .

A 3percent A 3 wfma

B 5 percent B 5ufawa

C 7 percent & 7 utua

D 10 percent D 10 wRaa

42 Marks : 3 42 : stw: 3
The space in the back of switch board width forg ot & N9 4 ore gEd W A€ g =Ry
shouldnotbelesstman = . = = = .. = =

A 2288cm A 2288cm

B 21.88cm B 21.88cm

D 20.77cm ol

43 Marks : 3 43 W 3
Earth continunity conductors should run from o WQK@' sreTer 7 Wil & G @8 s
el L S ol st 3 e iy o et o &

A1 A 1

B2 B: 2

C-3 S 9

D 4 D 4 -

- = Mavks s | : ey
Height of the control panel installed from the gl e s & g dr R gwew wd @
ground levelis .......... A Doy

A 2.2 metres

B 2.0 metres B 20T

C 1.5 metres C 15T

D 1metre D 14

45 Marks : 3 45 W 3
Pumps can be classified mainly into........ ger gy e & gad B i @ L

A 2 A 2

B9 B3

c 4 C 4

B=5 =

46 Marks : 3 46 ¥F: 3
As per standard practice the circuit of different 25 iffen & A W o & affe W W
phases should be keptat ............. MeRERT.. . :

A 3.5 metres A 35 #iex

B 3.05 metres B 3.05x

C 2.55 metres C 2.55#ex

D 2.05 metres D 2.05fex

47 Marks : 3 47 3% 3
Copper used in electric work should have a gafags i § FAhr §Y T I YEAT F I
very high degree of purity say ............. mT s 9Re /...

A 90.9% A 90.9%

B 959% B 959%

C 96.9% % gg-gzz

D 99.9% :

48 Marks : 3 48 sw: 3
Operating temperature range of heating Ste e 8 AT aa w7 e AT dar &
elements in hot plate is............ A 550°& 700°C

A 550°to 700°C B 700° & 850°C

1] 0,
e ¢ 7500500
D 800°to 850°C D

800° & 850°C

&
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49 tharks : 3 49 : s 3
To aperate 6 volt bulb in a 240 volt supply no. 240 Tz e d 6 Flew e B I FA F Ry
of bulbs requirad is........... e weat A T Eh L
A 30 A 30
B 32 B 32
c 40
e D 42
D 42 ————— e A AP -
50 Marks : 3 50 w3
A 100 watts heater is connected to a 240v w100 § =tz €23 240V AC wars | 3T g
AL supply then the current drawn by the ¥ At e gy o T T R
heateris.......ccocene
y, $151 r -5
A 4006A A 4.006 urflae
B 4.106 A B 4.106 =y
C 4.160A C 4.160 TdRR
D 4186A D 4.166 wiaT
*kkkkk
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